

07/30/2020

Vendor Ranking							Page 1 of 1
Letting:	01200716	July 16, 2020 11:00 AM	Call Order	: 001	Contract:	E1T82	
District:	District 1			DIST/ST-WIDE, HARDEE,			
Contract Time:	160 AVAILA	BLE DAYS		HIGHLANDS, MANATEE,	Project(s):	44702915201 (*	·)
Contract Desc:	Installing Ra	ilroad Dynamic Envelope at F	Railroad Cross	Sings			

Ranl	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	ACME BARRICADES LC	Responsive	Winning bid	\$267,228.00	100.00%
2	TRAFFIC CONTROL PRODUCTS OF FLORIDA, INC.	Responsive	Non-Winning Bid	\$354,649.40	132.71%
3	P & P STRIPING LLC	Non Responsive	Non-Winning Bid	\$367,820.19	137.64%
4	AKCA, LLC	Responsive	Non-Winning Bid	\$368,614.00	137.94%
5	ROGAR MANAGEMENT & CONSULTING OF FLORIDA LLC	Responsive	Non-Winning Bid	\$395,373.28	147.95%
6	MCSHEA CONTRACTING, LLC	Responsive	Non-Winning Bid	\$465,192.00	174.08%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.



07/30/2020

Tabulation of Bids Page 1 of 4 Letting: 01200716 July 16, 2020 Call Order: 001 Contract: E1T82 District: District 1 Counties: DIST/ST-WIDE, Fed Aid No: N/A Contract Time: 160 AVAILABLE DAYS Contract Descr: Installing Railroad Dynamic Envelope at Railroad Crossing The work under this Contract consists of Installing Railroad Dynamic Envelope at Railroad Crossings Project(s): 44702915201 (*)

Line No / Item ID Alternate Item Description	Quantity Units	(1) ACME BAR	RICADES LC	(2) TRAFFIC PRODUCTS OF		(3) P & P S1	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (S	SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
0005 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	131.000 AS	285.00000	37,335.00	244.00000	31,964.00	404.50000	52,989.50
0010 0711 14170 THERMOPLASTIC, PREFORMED, WHITE, ARROW	2.000 EA	350.00000	700.00	410.00000	820.00	181.00000	362.00
0015 0711 14191 THERMOPLASTIC, PREFORMED, 6" WHITE, RAILROAD DYNAMIC ENVELOPE	6,786.000 LF	7.00000	47,502.00	7.40000	50,216.40	10.87000	73,763.82
0020 0711 14193 THERMOPLASTIC, PREFORMED, 12" WHITE ON ASPHALT PAVEMENT, RAILROAD DYNAMIC ENVELOPE	15,072.000 LF	10.75000	162,024.00	16.50000	248,688.00	14.66000	220,955.52
0025 0711 17 1 THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS- SURFACE TO REMAIN	1,647.000 G SF	2.00000	3,294.00	4.00000	6,588.00	2.05000	3,376.35
0030 0999 25 INITIAL CONTINGENCY AMOUNT, DO NOT BID	(1.000) LS	16,373.00000	16,373.00	16,373.00000	16,373.00	16,373.00000	16,373.00
0001 SIGNS(GRND SIGNS 30 Sec SQ FT OR LESS)(UN)	tion Totals:		\$267,228.00		\$354,649.40		\$367,820.19



07/30/2020

Page 2 of 4
. age = e

Tabulation of Bids								
Letting:	01200716	July 16, 2020	C	all Order: 001		Contract:	E1T82	
Line No / Ite Item Descrip		ate Quantity Units	(1) ACME BA	RRICADES LC		IC CONTROL F FLORIDA, INC.	(3) P & P \$	STRIPING LLC
	em is bid as Lump Su		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	Contract	Grand Totals:		\$267,228.00		\$354,649.40		367,820.19



		т	abulation of Bi	ds			Page 3 of 4
Letting: 01200716 Ju	ıly 16, 2020	Cal	I Order: 001		Contract:	E1T82	
Line No / Item ID Alternate Item Description	Quantity Units	(4) AKC	A, LLC	(5) ROGAR MAI CONSULTING	OF FLORIDA		ONTRACTING,
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	C Ext Amount	Unit Price	Ext Amount
SECTION: 0001 (S	SIGNS(GRND	SIGNS 30 SQ FT	OR LESS)(UN				
0005 0700 1 11 SINGLE POST SIGN, F&I GROUND MOUNT, UP TO 12 SF	131.000 AS	450.00000	58,950.00	221.61000	29,030.91	700.00000	91,700.00
0010 0711 14170 THERMOPLASTIC, PREFORMED, WHITE, ARROW	2.000 EA	100.00000	200.00	411.61000	823.22	475.00000	950.00
0015 0711 14191 THERMOPLASTIC, PREFORMED, 6" WHITE, RAILROAD DYNAMIC ENVELOPE	6,786.000 LF	10.50000	71,253.00	11.41000	77,428.26	14.00000	95,004.00
0020 0711 14193 THERMOPLASTIC, PREFORMED, 12" WHITE ON ASPHALT PAVEMENT, RAILROAD DYNAMIC ENVELOPE	15,072.000 LF	14.50000	218,544.00	17.71000	266,925.12	17.00000	256,224.00
0025 0711 17 1 THERMOPLASTIC, REMOVE EXISTING THERMOPLASTIC PAVEMENT MARKINGS- SURFACE TO REMAIN	1,647.000 G SF	2.00000	3,294.00	2.91000	4,792.77	3.00000	4,941.00
0030 0999 25 INITIAL CONTINGENCY AMOUNT, DO NOT BID	(1.000) LS	16,373.00000	16,373.00	16,373.00000	16,373.00	16,373.00000	16,373.00
0001 SIGNS(GRND SIGNS 30 Sec SQ FT OR LESS)(UN)	tion Totals:		\$368,614.00		\$395,373.28		\$465,192.00

Contract Grand Totals:

\$368,614.00

\$395,373.28

465,192.00

FDOT	51
	У

07/30/2020

	Tabulation of Bids							
Letting:	01200716	July 16, 2020	Call Order: 001	Contract:	E1T82			
			re to file a protect within the time pro	paribod in paction				

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.